4( Fractions of a number: unit fractions )7

Evaluate the expressions below ( simplify yoJur nswer )

a 1 of 24 =

3

To solve this, let’s multiply the numerator by the whole number.

then divide by the denominator.

Lofg= 1 x 24 :11;24 | 2212l g

b. -- of20 =
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Solution

{ Fractions of a number: unit fractions

Evaluate the expressions below ( simplify VQJur answer )

s #

a. — ofP24|= ‘

To solve this, let’s multiply the numerator by the whole number.

then divide by the denominator

ofbal= L1 |y 24| =|1xa] _| 2x12 |5
12 Z[ |1 TZK1 Tx 12

So, — of 24 =

5
1 atbalz L1 |x 2O| =|1x20]| -| 45| d4
5 5 1 5x1 Tk5
So, —0of 20 =4
(o L of2 =
%
Llofpo L1 [x 2 |=[1X2 ) o7
2 2 1 1x 2
So, = of 2 =1
12
d. - ofB = s
S
llofle2 L1 |x 16| =|1x = 2x3 -
3 3 1 551 Tx3
o= ofl6 =2
3
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